2154 ¥ &8 40 9] FFA Q] a2 60kgoltt. T2 sHAfo]
AgkS 7t & U] 387 9] 5 FAY] Hato] 59.5kg o] H S o,
AskE 7t = Y] BRAS] 22

D 62.5kg @ 65.5kg ® 67kg

@ 69kg ($)69.5kg

40739 BFEA L 8 1 60 x 40 = 2400( kg)
ZAsHA 212wl 33 0] LA 0] 237} 1 59.5% 38 = 2261 (kg)
Ay 275 0] FFAC F8 ¢ 2400 - 2261 = 139(kg)

(Y 2739 BRAL B)= 1o = 69.5(ke)




A4 x, y, z 8 Bdol 4 0lB2
x+y+z
3

5 x+y+z=12 ...... @

T3 x, y, z & B4to] 2 0]E=2

(x—4)2+ (y-4)2%+(z-4)?
3

(x-4)2+ (y-4)2+(z-4%*=6

x?—8x+16+y* -8y +16+2z° -8+ 16 =6

4y +22-8(x+y+z)+48=6

9] Ao @& sk

22 +y2 472 -8x12+48=6

X2 4 y? 472 = 5ATEbA K2, 32, 2 O] Ha 2

> +y*+72 b4

3 :3:1801‘:}.

=4

=’




dl 5. 7, x y o Bkl 4 o), ko] 3w, 5, 242, 22 7

Hat?

@ 2 @4 ® 6 ® 8 © 10

~&B

W5, 7, x, y & o4 0|22

@:4, x+ty+12=16
x+y_4 ...... @

ok Flo]i3io] B

i, 1T

(5-42+ (T4 +(x-47+ (-4 _

=3,
4

14+94x2-8x+16+y2—8y+ 16 5

4 - 9
X2 +y" - 8(x+y) +42

=3
4

X +y? - 8(x+y)+42=12
. x2+y2—8(x+y)=—30 ...... @

O] Al @2 Hdstd
L 4y? =8(x+y)-30=8x4-30=2
ot 5, 2x%, 22, 7 9] B
2 2 2 2
5+ 2x I2y +7_ 12”(: ) _ 12:4:4011:}.




A%y, o o BT RO A2, 3L W, 142

B0

D 12 @14 ® 16 @ 18 ® 20

~&B

1
2

~72 9

Al &= x, y, z & B40] 5 0| EE
x+y+z
3

LX+y+z=15 ------ @)

E, x, y, z 9] BA4to] 3 o]BER

(x=5)24+ (y=5)2+ (z—5)?
3

(x=5)2+ (=524 (z-5)*=9

x2—10x+25+y2—10y+25+272-10z+25=9

P+ +22-10(x+y+2)+75=9

3ol 4 @& st

P+ +722-10x15+75=9

'x2+y2—|—z2:84

et —x —y : z2 o] P2

=5

=3

1(x2 y2 z) 1L, 5 5 84
el (T A = 22 — 14 o]t}
s\F+3+35 6(x+y+z) 5 i=;




5. Ay g FHdg Bl 443, 4d o, x-1, y-1, z—-1 9
Wit BFHAE A 2 FLoto]zt,

@22 @35 G414 @54 ©65

Al &= x, y, z 8] Bao] 30|ER
xX+y+z

=3
3

(x=3)2+ -3+ (z-3)?>=12
X2 —6x+9+y2—6y+9+72—-62+9=12
P4y +2-6(x+y+z)+27=12
9ol Ho] @& s
X2 +y2+72-6%x9+27=12
Xt 4y?+ 22 =39
HHE, x -1, y-1,z-1 9 HH
x-D+-1+(z-1)
3
(x+y+2)-3 9-3

= :2
3 3

n

O
i
1-

A

—~

224+ (y-1-2)2+(z-1-2)?
3
(x=3)2+ (y-3)2+ (z-3)?
3
X2+’ +22-6(x+y+2)+9x3
- 3
_39-6x9+27 12
-3 3
et x -1, y-1, z-1 9] EEA}E Vi =2 o},

X —

=4




(o]

Al 4= a, b,C—/]-‘l:]—T'ILO]Z,—E«/ﬂ' ]4%111]1, HeF g +3, b+3, c+3
of W} R4S A2 g AL

@25 @35 @44 @54 G065

B ‘

Al 4= a, b, ¢ & Bto] 20|E2

a+b+c

3

At btc=06 - @

F3h a, b, ¢ O] BAto] 40|B 2

(@=2)2+ (b-2)% + (c - 2)°
3

(a=2)2+(b-2)2+(c-2)?=12

@ —4da+4+b—4b+4+c2—4dc+4=12

A+b2+c-4lat+b+c)+12=12

9] Ao @& st

2 4+b2 4+ -4%x6+12=12

a4+ b =24

StHH, a+3, b+3, c+3 9 A2

(@+3)+(®+3)+(c+3) (atb+c)+9

3 3

=

=4

= ——=35

A AR
(@+3-5°+(+3-5°+(c+3-5)°
3
(@a-2)24+(b-2)2+(c-2)2
3
a2+ +c?—4la+b+c)+4x3

C24-4x6+12 12




A Mel HeF g, b, c  BHS M, BEZFHASE s S S 0, o +
L, b+1, c+1 9] Fatdt 24l At 2 et 2427

O M, S? @ M, S?+1

@M+1,S2 @ M+1, S?2+1

® M+1, (S+1)?

~&B

Al 7N W% a, b, ¢ o] B3t 24t 42 M, 52 °|B=

a+b—+c

M=———
3

(a=M)?+ (b—M)?*+ (c - M)?

§% =
B
a+1,b+1, c+ 19 Fad My 3 24 57 o2kl s
My — (a+1)+(B+1)+(c+1)
3
b b

_ (ot ;rc)+3=a+3+c+1=M+1

1
§2 = g{(a+1—M—1)2+(b+1—M—1)2+(c+1—M—1)2}

:—{a— + (b — M)? +(c—M)2}252

et a+1, b+ 1, c+1 9 Bad 242 44 M + 1, §2
oltt.




D

[e]
Z

@ AEAB ® AFMB

B

& 182 A = 90° 2 A2 ABC Ol Al 22

=

O AEBC, SAS &%

@ ABLF, UHi1} o7} e A2ty
@ AEAB, aBLF ¢} g o]7} .

() AFMB, RH 3} o7} Zre 42y




o3 23 2ol /B = 90° 91 A Z4t7Hd ABC
o] A B o4l AC of & 4] T

A, a+b+c=10,BH=>5cm € of, 423
ABC 9] Hlo|& F5hH?

2
@ 25cm? @) ;ch ©) gcm2

@ 5cm? ® 10cm?

B

(@a+c)=10-b o122 FH AT A (a+c)” = (10-b)*
@® + 2ac + ¢ = b> — 20b + 100 TEFT A AT o] A
b? = a® + ?Z ]85

b2 + 2ac = b% — 20b + 100°] 22

2ac +20b = 100-- - (1)

T35 AB x BC = AC x BHJ|A

5b =ac---(2)
(1) el (2) & Hdstd
306 = 100 ©| A

100
b=30 30
wzhx AABC 9] Hol=
Lo ey B0 25(Cm2)

2 6 3




